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Note

1:6,000Map Scale : 

SCHEME DATA

Name Of Scheme - Aiyathigewewa
Irrigation Division - Padaviya
Irrigation Region - Anuradhapura
Type of Reservoir - Medium
River Basin - Ma Oya
Location Coordinate Xm - 191,273
Location Coordinate Ym - 380,118
Catchment Area - 0.9 Sq Miles
Irrigable Area  (GIS) - 421 Ac
Water Speared Area (GIS) At FSL - 109 Ac
Capacity At FSL - 454 Ac.ft
Live Storage - 454 Ac.ft
Dead Storage - 0  Ac.ft
FSL - 33 m MSL
HFL - 33 m MSL
BTL - 35 m MSL
Length Of Bund (GIS) - 945m
Length Of Main Canal (GIS) - 1,067m


